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Intrucation: (1) All Questions are Compulsory.
(2) Figures to the right indicate total marks of the Questions.
1. What is National Income ? Explain different methods to measure National Income and its
limitations (14)
OR
I Answers any (wo (14)

(A)  Gross Domestic Product (GDP)
(B)  Net Domestic Product (NDP)

(C)  Difficulties in measuring National Income.

2. Explain Meaning, Types and Functions of Money. (14)
OR
2. Critically explain Fisher’s Equation of I:xchange. (14
3. Describe Say’s Low of market. Discuss Keynes criticism against it. (14)
OR
3. (A)  What is consumption function?” Explain the concept of average Propensity
to Consume and marginal Propensity to Consume. (7)
(B)  Explain the concept of Investment multiplier. Discuss its leakages. (7
4 Explain types of Inflation, Discuss the cffects of inflation. (14)
OR
4. (A)  Phases of business cycle. (7)
(B)  Liquidity preference Theory of Interest. (7)
5. Multiple choice Question:- (14)

(hH How many Methods of measuring National Income.

(a) Two (b)  ‘Three (¢) Tour (&) Five
(2)  Net National Product =......

(a) Gross National Product — Capital Depreciation

(b)  Gross Domestic Product + Subsidy

(¢) Gross Domestic Product + Taxcs (d) Personal Income + Taxes
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(6)

(7)

(9)

(10)

(11)

Total National Income + Population =

(a)  Real Income (b)  Per Capita income
(¢)  Disposable income (d)  Personal income
National Income at Constant Prices means. . ...

(a)  Real Income (b)  Money Income
(¢) Total Income (d)  Net Income

Broad Money refers to

(a M, (b)y M, (c)  M; (d) M,

Who introduced Equation of Exchange.

(a) Fisher (b) Ricardo (c) Keynes (d) Adam Smith
The cash balance equation stresses on which function of Money?

(a) Medium of Exchange (b) Store of Value

(¢)  Standard of deferred payment (d)  Measure of Value

Vand 1 remain constant, if money supply (M) increases. the value of Money will
(a)  Increase (b)  Decrease

(¢)  Remain constant (d)  become Zero

“Supply Creates its own demand” which economist given this statement.

(a)  Adam Smith (b) Recardo (¢) J1.B.Say (d)  Marshall
According to Keynes, Income-employment is based on

(a) production  (b) elfective demand  (¢) consumption (d) saving
Marginal Propensity to consume Marginal Propensity to save =

(a) one (b)  Zero (¢) 10 (d) -

How many phases of Business cycle ?

(a)  Two (b) Three (¢) Four (d) Five

Because of Inflation. the external value of money will

(a) Increase (b) Decrease

(¢)  Remain constant  (d)  None of these

At the time of Inflation. the imports. . ..

(a) Decrease (b) Increase

(¢)  Remain constant  (d)  None of these



